CTH[ -W[ ] 95T 7 — L FTav
4
=
> mm
7 W1 45277 —1 W2 45277 —1Is 5527
II 2/ 277 AN CTHO6-WLI CTH10-WLI CTH16-WLI CTH25-W[I
Il A 64.5 84.5 98 113
B 24 33 43 49
A B2 7 10 11 15
T T 1 21 30 32 35
e e &) 0.5 1 1 1.5
5 ) 5 ke ) ) D 125 17 21 215
CTH « L/ & « i .J & E 17.5 24.5 30 33
oF 16 %0 | 22.4%0m | 300w | 32 0w
> M s M,
B S oG] - 23 - 33
G2 = 5 = 6
- 2G1 - 2G1 H 50 50 60 75
© O - J M8%1.25 | M10X1.5 | M10X1.5 |M12x1.75
SRR B k2 z z z
=] | ! of Yl B <] LH 40 50 57 65
of o | of of oo |oF M 10.5+0.1 | 15=+0.1 194+0.1 | 20.5%0.1
E ! LH E ! LH @I: 12 +g_015 ::;‘. +8.018 ::i +g.018 :II Z +8.018
R 16.5 24.5 29.5 34.5
B - SCM440 (S8 HB285~344) SGRILR) | CTHO6-VB | CTH10-VB | CTH16-VB | CTH25-VB
T M8X1.0 | M12Xx1.5 | M14X1.5 | M16X1.5
g8 0.13 kg 0.33 kg 0.52 kg 0.78 kg
249 | CTWO06 CTW10 CTW16 CTW25
#5>7 | CTV06 CTV10 CTV16 CTV25
mm
WLYSV 77— L 7727 CTHO6-WL CTH10-WL CTH16-WL CTH25-WL
A 152.5 184.5 200 213
B1 24 33 43 49
A B2 14 20 22 30
T C 21 30 32 35
ﬁ D 12 16 20 20
< i S - E 17.5 24.5 30 33
@ N QY @ oF 16535 | 22.470%% | 30 2% 32 190
o« - 2G1 - 23 = 33
s " G2 - 5 - 6
fvr T K 2 2 2 2
N 0G1 L 135 160 170 180
° ‘ ,,J M 10.5+0.1 | 15=%0.1 194+0.1 | 20.5%0.1
o )| N 10 14 15 16
Zi :/ ‘ DI oP 8 +g.015 712 +8.018 14 +g.018 16 +g.013
o | | o R 16.5 24.5 29.5 34.5
E \ L SGRJLK) | CTHO6-VB | CTH10-VB | CTH16-VB | CTH25-VB
T M8X1.0 | M12Xx1.5 | M14X1.5 | M16X1.5
& : SCM440 (382 HB285~344) 5 e 0.24 kg 0.58 kg 0.87 kg 1.25 kg
249 | CTW06 CTW10 CTW16 CTW25
#5>7 | CTV06 CTV10 CTV16 CTV25
mm
1V A~V |CTHO06-VB CTH10-VB CTH16-VB CTH25-VB
A 20 28 35 41
B 8 12 14 16
N T oC 13 18 21 24
s D 9 11 13 15
% E 6 10 12 14
b oP 8 0% 12 2 14 20 161708
B A T M8X1.0 | M12Xx1.5 | M14X1.5 | M16X1.5
244 | CTWO06 CTW10 CTW16 CTW25
2527 | CTV06 CTV10 CTV16 CTV25

82

TEE-#HR REE- R HREI—F—EXEE2—\ 072-747-2827

KBS EET I ALY —ERE2—~ 072-777-4642






